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Fig. S1. The change of DOC concentration over time in biodegradation experiments. The error
bars represent 1 s.d. of duplicates unless within the symbol size. Lake Temnoe 0.5 m (A), 5 m
(B) and 10 m (C) in June (squares), August (triangles) and October (circles). llasskoe continuum
in July (D) includes piezometer (open squares), peatland pool Severnoe (open triangles) and

stream Chernyi (open circles)
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Fig. S4. The change of optical ratios (E2s4/Esss) over time in bio-degradation experiments. Lake
Temnoe 0.5 m (A), 5 m (B) and 10 m (C) in June (squares), August (triangles) and October
(circles). llasskoe continuum in July (D) includes piezometer (squares), peatland pool Severnoe

(triangles) and stream Chernyi (circles)
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Fig. S4, continued. The change of optical ratios (E2sa/Eass) over time in bio-degradation
experiments. Lake Temnoe 0.5 m (A), 5m (B) and 10 m (C) in June (squares), August (triangles)
and October (circles). llasskoe continuum in July (D) includes piezometer (squares), peatland
pool Severnoe (triangles) and outlet stream Chernyi (circles)
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Fig. S4, continued. The change of optical ratios (Esss/Es70) over time in bio-degradation
experiments. Lake Temnoe 0.5 m (A), 5m (B) and 10 m (C) in June (squares), August (triangles)
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Fig. S4, continued. The change of optical ratios (Es70/Eess) over time in bio-degradation
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Fig. S7. The change of optical ratios (E2s4/Ezss) over time in photodegradation experiments. Lake
Temnoe 0.5 m (A), 5 m (B) and 10 m (C) in June (squares), August (triangles) and October
(circles). Ilasskoe continuum in July (D) includes piezometer (squares), peatland pool Severnoe

(triangles) and stream Chernyi (circles)

S10



3
<t
w
5 24 y=-0.1365x + 0.0475 ~
w R? = 0.5813
<
y = 0.0456x - 0.1526
3 R? = 0.346
y =0.0081x - 0.1048
R2 =0.1498
-4 T T T )
0 5 10 15 20
Time, day

Lake Temnoe, 10 m

y = -0.0809x - 0.8382
R? = 0.4883

om y =-0.1119x - 1.0045
R? = 0.6527

g B
w Sy ~
< i T
o .
-3
y =-0.0647x - 0.1887
R? = 0.8425
-4 T T T )
0 5 10 15 20
Time, day

B June A August @ October

AEZMIE436

y = -0.1628x - 0.4664 .
-3 1 R? = 0.8308
y=-0.007x -0.3355 y =-0.0774x + 0.0175
R? = 0.0068 R2 = 0.4097
-4 : - r )
0 5 10 15 20
Time, day

llasskoe (July)

14 -
12 y = -0.0647x + 0.1755
R2=0.7178
10 4
8 a Tl
y = -0.104x - 0.3981 a
o 6 1 R? = 0.7636 A
2Q
w
= 4
u A y = 0.5164x + 0.8715
< 24 47 R? = 0.7007
4 . . ' ;
0 5 10 15 20

Time, day

[l Piezometer A Peatland pool (O Stream
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Fig. S7, continued. The change of optical ratios (Esss/E470) over time in photodegradation
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Fig. S7, continued. The change of optical ratios (Es7o/Eess) over time in photodegradation
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Fig. S8. Continuous optical spectra changes in the course of photodegradation experiments
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Fig. S9. Results on eutrophic bacterial counts in bio-degradation experiments. Lake Temnoe 0.5
m (A), 5m (B) and 10 m (C) in June (squares), August (triangles) and October (circles). llasskoe
Bog continuum in July (D) includes piezometer (squares), peatland pool Severnoe (triangles) and
stream Chernyi (circles).
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Fig S9, continued. Results on oligotrophic bacterial counts in bio-degradation experiments. Lake
Temnoe 0.5 m (A), 5 m (B) and 10 m (C) in June (squares), August (triangles) and October
(circles). llasskoe continuum in July (D) includes piezometer (squares), peatland pool Severnoe
(triangles) and stream Chernyi (circles).
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Fig. S10. Change in Mn concentration (relative to the control) over time in bio-degradation
experiments. The error bars are 1 s.d. of duplicates. Lake Temnoe 0.5 m (A), 5m (B) and 10 m
(C) in June (squares), August (triangles) and October (circles). llasskoe continuum in July (D)
includes piezometer (squares), peatland pool Severnoe (triangles) and stream Chernyi (circles)
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Fig. S11. Change in V concentration (relative to the control) over time in bio-degradation
experiments. The error bars are 1 s.d. of duplicates. Lake Temnoe 0.5 m (A),5m (B) and 10 m
(C) in June (squares), August (triangles) and October (circles). llasskoe continuum in July (D)
includes piezometer (squares), peatland pool Severnoe (triangles) and stream Chernyi (circles)
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Fig. S12. Change in La concentration (relative to the control) over time in bio-degradation
experiments. The error bars are 1 s.d. of duplicates. Lake Temnoe 0.5 m (A), 5m (B) and 10 m
(C) in June (squares), August (triangles) and October (circles). llasskoe continuum in July (D)
includes piezometer (squares), peatland pool Severnoe (triangles) and stream Chernyi (circles)
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Fig. S13. Change in Ti concentration (relative to the control) over time in photodegradation
experiments. The error bars are 1 s.d. of duplicates. Lake Temnoe 0.5 m (A), 5m (B) and 10 m
(C) in June (squares), August (triangles) and October (circles). llasskoe continuum in July (D)
includes piezometer (squares), peatland pool Severnoe (triangles) and stream Chernyi (circles)
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Fig. S14. Change in Zr concentration (relative to the control) over time in photodegradation
experiments. The error bars are 1 s.d. of duplicates. Lake Temnoe 0.5 m (A), 5m (B) and 10 m
(C) in June (squares), August (triangles) and October (circles). llasskoe continuum in July (D)
includes piezometer (squares), peatland pool Severnoe (triangles) and stream Chernyi (circles)
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